PRODIRECTIONAL

5 Inch MD Gamma Ray Log

(Scale: 5":100' (10"))

Company: Tapstone Energy
Well: Hazel 23-34-9 2H
Field: Mississippi Lime

Well ID: 15-077-22151-01-00
Job Number: LKS6118515

Location: Harper County
Operator 1: J.Treille
Operator 2: B. Bagby

Comment 1: LAT: 37°4' 43.63 N
Comment 2: LONG: 98°15'51.95 W

Comment 3: Y: 150148.00 / X: 206872700
Comment 4: Mud Density (Ib/bbl): 8.35 / Funnel viscosity (sec/qt): 27
Comment 5: Max Temp (DegF): 160° (NAD 1927) Gamma Ray in Reference to Elev KB (Kansas South 1502)

State: Kansas
County: Harper
Country: USA

Elev KB: 22' + 1,288' = 1,310’

Elev DF: 22'
Elev GL: 1,288’

ROP (MD) Track: 1
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Hole Data Casing Record
Size From To Size From To
12 1/4" 0' 815’ 95/8" 0' 815
8 3/4" 815 5,361' 7" 815 5,361'
61/8" 5,361' 8,918’
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 2591 1000 3023 2599 3023
Cal Factor 4.85 4.85 2.75 2.75 2.75
Gamma Offset 43' 47 40' 40' 40'
Start Depth 3,450’ 3,915 5,318’ 7,181 8,572
Start Date 07/23/2015 07/23/2015 07/28/2015 07/31/2015 08/02/2015
Start Time 05:25 05:00 00:40 04:00 08:06
End Depth 3,915 5,318’ 7,181' 8,572 8,878'
End Date 07/23/2015 07/26/2015 07/30/2015 08/01/2015 08/02/2015
End Time 13:00 16:53 17:37 20:15 22:00
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#17 MD:3528.0 TVD:3527.7 1:0.4 A:22.4 VS:-9.6

#18 MD:3717.0 TVD:3716.7 1:0.1 A:39.6 VS:-10.3
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#19 MD:3812.0 TVD:3811.7 1:0.5 A:155.4 VS:-9.9

#20 MD:3843.0 TVD:3842.7 1:2.2 A:178.2 VS:-9.2

#21 MD:3874.0 TVD:3873.7 1:4.0 A:185.2 VS:-7.6

#22 MD:3905.0 TVD:3904.6 1:5.6 A:181.8 VS:-5.0

#23 MD:3932.0 TVD:3931.4 1:6.8 A:180.4 VS:-2.1
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#24 MD:3963.0 TVD:3962.1 1:9.2 A:181.7 VS:2.1

#25 MD:3994.0 TVD:3992.5 1:12.8 A:179.6 VS:8.0

#26 MD:4025.0 TVD:4022.6 1:15.7 A:180.9 VS:15.5

#27 MD:4056.0 TVD:4052.2 1:18.2 A:179.9 VS:24.5

#28 MD:4087.0 TVD:4081.4 1:21.8 A:178.9 VS:35.0

#29 MD:4118.0 TVD:4109.8 1:25.1 A:177.9 VS:47.3

#30 MD:4149.0 TVD:4137.5 1:28.4 A:176.2 VS:61.2
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#31 MD:4181.0 TVD:4165.3 1:31.0 A:175.0 VS:77.0

#32 MD:4212.0 TVD:4191.4 1:33.9 A:174.4 VS:93.6

#33 MD:4244.0 TVD:4217.5 1:36.7 A:173.8 VS:112.1

#34 MD:4275.0 TVD:4242.1 1:38.6 A:173.5 VS:131.0

#35 MD:4307.0 TVD:4266.7 1:40.9 A:172.9 VS:151.5

#36 MD:4338.0 TVD:4289.7 1:43.2 A:173.0 VS:172.2

#37 MD:4370.0 TVD:4312.6 1:45.2 A:173.8 VS:194.5
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#38 MD:4401.0 TVD:4334.2 1:46.9 A:174.2 VS:216.8

#39 MD:4431.0 TVD:4354.2 1:49.3 A:174.5 VS:239.2

#40 MD:4462.0 TVD:4374.0 1:51.3 A:174.7 VS:263.0

#41 MD:4494.0 TVD:4393.6 1:53.3 A:174.8 VS:288.3

#42 MD:4525.0 TVD:4411.6 1:55.5 A:174.7 VS:313.5

#43 MD:4556.0 TVD:4428.6 1:57.9 A:174.8 VS:339.3

#44 MD:4587.0 TVD:4444.6 1:60.0 A:174.9 VS:365.9
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#45 MD:4618.0 TVD:4459.7 1:61.9 A:175.1 VS:392.9

#46 MD:4649.0 TVD:4474.1 1:62.8 A:175.3 VS:420.4

#47 MD:4681.0 TVD:4488.5 1:63.4 A:175.1 VS:448.9

#48 MD:4712.0 TVD:4502.6 1:62.7 A:174.6 VS:476.5

#49 MD:4743.0 TVD:4516.9 1:62.1 A:174.0 VS:503.9

#50 MD:4774.0 TVD:4531.4 1:62.4 A:174.0 VS:531.3

#51 MD:4806.0 TVD:4546.0 1:63.1 A:174.2 VS:559.8
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#52 MD:4837.0 TVD:4559.9 1:63.8 A:174.7 VS:587.5

#53 MD:4868.0 TVD:4573.0 1:66.1 A:174.8 VS:615.5
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#72 MD:5492.0 TVD:4676.9 1:89.7 A:177.2 VS:1225.9
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#137 MD:7460.0 TVD:4668.7 1:90.3 A:171.4 VS:3192.4
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#138 MD:7489.0 TVD:4668.6 1:90.2 A:171.4 VS:3221.4

#139 MD:7519.0 TVD:4668.5 1:90.0 A:172.4 VS:3251.4

#140 MD:7549.0 TVD:4668.5 1:90.3 A:173.7 VS:3281.4

#141 MD:7580.0 TVD:4668.2 1:90.5 A:173.5 VS:3312.4

#142 MD:7610.0 TVD:4668.0 1:90.6 A:173.2 VS:3342.4

#143 MD:7640.0 TVD:4667.8 1:90.0 A:172.3 VS:3372.4

#144 MD:7671.0 TVD:4667.7 1:90.2 A:172.5 VS:3403.4
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#145 MD:7703.0 TVD:4667.4 1:91.1 A:173.1 VS:3435.4

#146 MD:7734.0 TVD:4666.7 1:91.4 A:173.3 VS:3466.4

#147 MD:7766.0 TVD:4666.1 1:90.9 A:173.0 VS:3498.3

#148 MD:7797.0 TVD:4665.9 1:89.8 A:173.0 VS:3529.3

#149 MD:7829.0 TVD:4666.0 1:89.9 A:173.3 VS:3561.3

#150 MD:7860.0 TVD:4666.0 1:89.9 A:173.5 VS:3592.3

#151 MD:7892.0 TVD:4666.0 1:90.2 A:173.6 VS:3624.3
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#152 MD:7923.0 TVD:4665.7 1:90.8 A:174.5 VS:3655.3

#153 MD:7955.0 TVD:4665.1 1:91.3 A:174.7 VS:3687.3

#154 MD:7987.0 TVD:4664.5 1:90.9 A:173.9 VS:3719.2

#155 MD:8019.0 TVD:4664.0 1:90.9 A:174.2 VS:3751.2

#156 MD:8050.0 TVD:4663.8 1:89.8 A:174.0 VS:3782.2

#157 MD:8082.0 TVD:4663.9 1:90.0 A:173.7 VS:3814.2

#158 MD:8113.0 TVD:4663.8 1:90.3 A:173.7 VS:3845.2
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#159 MD:8145.0 TVD:4663.6 1:90.5 A:174.2 VS:3877.2

#160 MD:8177.0 TVD:4663.3 1:90.6 A:174.0 VS:3909.1

#161 MD:8209.0 TVD:4662.9 1:90.8 A:174.0 VS:3941.1

#162 MD:8240.0 TVD:4662.4 1:90.8 A:174.0 VS:3972.1

#163 MD:8271.0 TVD:4662.2 1:90.2 A:172.8 VS:4003.1

#164 MD:8303.0 TVD:4662.2 1:89.7 A:172.2 VS:4035.1

#165 MD:8335.0 TVD:4662.3 1:90.0 A:171.3 VS:4067.1
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#166 MD:8366.0 TVD:4662.2 1:90.3 A:171.4 VS:4098.1

#167 MD:8398.0 TVD:4662.2 1:89.6 A:171.3 VS:4130.1

#168 MD:8429.0 TVD:4662.3 1:90.0 A:171.3 VS:4161.1

#169 MD:8461.0 TVD:4662.5 1:89.5 A:171.5 VS:4193.1

#170 MD:8492.0 TVD:4662.9 1:89.1 A:170.3 VS:4224.1

#171 MD:8524.0 TVD:4663.4 1:88.8 A:169.6 VS:4256.0

#172 MD:8555.0 TVD:4664.1 1:88.8 A:169.6 VS:4287.0



'oobU

N
.
)
J
8570 —
— /
. (
\7
. 8580 -
|| ~
(
\
8590
\)
8600 —
/
/
£
8610 --
| e ——
8620 —
N\
N
p,
8630 -
\
)
S
8640 —
_~
<
8650 ——
)
(S
N
8660
a 1
£
8670 ~
/
/
\\
8680 —
I 1
| 'Y
/
8690 —
[ C
. N
— \
— 8700 —-
. <
- )
B!
8710 -
E— ¢
I AN
= 3
8720 —:
Ve
| <
\\
8730 —
- rd
- $
- \
— 8740
8750 -
— /
/
‘\
8760 —
- =
[ Vd
. >
. C
N S
\\

/

#173 MD:8586.0 TVD:4664.7 1:88.8 A:169.0 VS:4318.0

#174 MD:8618.0 TVD:4665.5 1:88.4 A:169.6 VS:4349.9

#175 MD:8650.0 TVD:4666.7 1:87.5 A:169.2 VS:4381.8

#176 MD:8681.0 TVD:4668.1 1:87.3 A:169.3 VS:4412.8

#177 MD:8712.0 TVD:4669.5 1:87.5 A:169.9 VS:4443.7
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#178 MD:8807.0 TVD:4673.5 1:87.6 A:169.9 VS:4538.5

#179 MD:8866.0 TVD:4675.7 1:88.2 A:169.9 VS:4597.5
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